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Lesson 1 Naked Math Worksheet Answer Key

This is called the commutative property of multiplication (You can change the order of the multiplied numbers and get the same answer.)
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H=Hours worked   P=Pay per hour   X=Gross pay
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Important to know: 
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is the same as 
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Try the following problems to test abilities in Naked Math.  Show your work in the area below the problem.

1. (20)($9.50)=X

X=$190.00

2.  (25)($7.28)=X

X=$182.00

3.  In the equation (H) (P) =X   What does the letter (H) stand for? 

The letter (H) stands for hours worked.

4.  When () () =X    What is the function used to find the answer?
The function used to find the answer is multiplication.
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